

**KBX Golden**

439 McFarlan Road  
 Kennett Square, PA 19348  
 (610) 444-3551  
 CustomerService@KBXGolden.com  
 www.KBXGolden.com

**OK TO PAY  
UPTSA - KMM**

**8-7-2023**


**INVOICE**

**BILL TO**  
 Upper Providence Township Sewer Authority  
 935 N. Providence Road  
 Media, PA 19063

**INVOICE** 20226306  
**DATE** 07/31/2023  
**TERMS** Net 30  
**DUUE DATE** 08/30/2023

DATE	SERVICE	QTY	RATE	AMOUNT
	15 - Operations & Maintenance Monthly Operations and Maintenance of Pump Stations	1	5,360.69	5,360.69
<b>MONTH OF JULY</b>				
Subtotal: 5,360.69				
<b>GENERAL COLLECTION</b>				
Quiet Hallow Road				
07/07/2023	22 - Premium Time Mechanic Foreman Received a call from township of overflowing manhole at 210 Quiet Hallow Road. Vacuum truck was immediately dispatched to site to contain flows. The manhole was pumped down upon arrival and found issue to be air release valve flushing pit for the low pressure system. Using CSE the technician onsite entered the pit. After evaluation of the components it was found that the isolation valve on the flushing station was broken and the air release valve was leaking. A preventive repair was made overnight until necessary parts could be obtained to make the permanent repairs.	6	139.29	835.74
07/07/2023	24 - Premium Time Vac Truck & Operator	6	283.19	1,699.14
07/08/2023	22 - Premium Time Mechanic Foreman	4	139.29	557.16
07/08/2023	24 - Premium Time Vac Truck & Operator	5	283.19	1,415.95
07/07/2023	Job Materials Air Release Valve UX20 SS Combination and Ball Valve.		3,747.88	3,747.88
Subtotal: 8,255.87				
<b>WINTER STREET</b>				
07/10/2023	22 - Premium Time Mechanic Foreman Responded to call of a potential sewer main break. Upon arrival it was verified to be the force main from Winter Street Pump Station. Sewage was observed discharging from multiple spots within 30-40 ft area in roadway. PA 1 Call was placed and crew dispatched to site. Upon arrival the foreman preformed multiple test in order to verify the original dig location where the discharge was most prominent. Following testing, the anticipated location of the break was found to be approximately 30' uphill of the heavy discharge and neighboring spot. The pipe was excavated and it was found. A water service was bored /pulled through the sewer main causing the break. Repairs to main were made and area of excavation backfilled. Winter Street Pump Station was maintained with vacuum trucks during the event.	16	139.29	2,228.64
07/10/2023	21 - Premium Time Mechanic	14	129.13	1,807.82

**KBX**  
**GOLDEN**

07/10/2023	21 - Premium Time Mechanic	14	129.13	1,807.82
07/10/2023	21 - Premium Time Mechanic	14	129.13	1,807.82
07/10/2023	29 - Premium Time Dump Truck & Operator	14	0.00	0.00
07/10/2023	25 - Premium Time Excavator and Operator	12	212.02	2,544.24
07/10/2023	21 - Premium Time Mechanic Maintained Pump Station and coordinate the bypass process.	12	129.13	1,549.56
07/10/2023	24 - Premium Time Vac Truck & Operator	14	283.19	3,964.66
07/10/2023	24 - Premium Time Vac Truck & Operator	10	283.19	2,831.90
07/10/2023	Job Materials Materials		2,078.85	2,078.85
				Subtotal: 20,621.31
	MEDIA STATION			
07/08/2023	22 - Premium Time Mechanic Foreman Responded to high water alarm due to heavy rain.	4	139.29	557.16
07/09/2023	22 - Premium Time Mechanic Foreman Responded to high water alarm due to heavy rain.	1	139.29	139.29
				Subtotal: 696.45
	WINTER STREET			
07/08/2023	22 - Premium Time Mechanic Foreman Responded to lag alarm. Upon arrival found pump #1 had tripped at thermal. Reset pump and observed proper operation before departure.	1	139.29	139.29
07/09/2023	22 - Premium Time Mechanic Foreman Responded to high water alarm due to heavy rain.	4	139.29	557.16
				Subtotal: 696.45
	VALLEY VIEW			
07/10/2023	02 - Mechanic Foreman Responded to call. Upon arrival found generator running due to power failure, but not supplying power contractor for generator issues. Began evaluation of pump station and component. Found bad phase monitor and malfunction with notification system. Troubleshoot system and found a bad phase monitor. Installed a new phase monitor.	3	92.85	278.55
07/10/2023	Job Materials Phase Monitor		497.41	497.41
07/10/2023	02 - Mechanic Foreman Cleaned up overflow spill at pump station from prior day.	4	92.85	371.40
07/10/2023	01 - Mechanic	4	86.09	344.36
07/11/2023	02 - Mechanic Foreman Met contractor to give access to station and remained on site while generator and transfer switch was being repaired and tested.	6	92.85	557.10
07/11/2023	Custom Service Contractor response to emergency call and repair to generator on site.		3,148.80	3,148.80
				Subtotal: 5,197.62
	Rose Tree Lower			
07/11/2023	02 - Mechanic Foreman Met contractor to have biode pumps troubleshoot and repaired.	2	92.85	185.70
07/17/2023	02 - Mechanic Foreman	3	92.85	278.55

Diagnosed issue with pump #2. Removed pump and delivered to repair shop for further evaluation.

07/17/2023	01 - Mechanic	2	86.09	172.18
				Subtotal: 636.43
	Sales BRAVES TRAIL	2		0.00
07/27/2023	02 - Mechanic Foreman Cleaned priming system on both pumps.	2	92.85	185.70
				Subtotal: 185.70
		BALANCE DUE		<b>\$41,650.52</b>

